
答え：

③

答え：

答え：

②

日にち：　　　月　　　日

名まえ

・次の図のような立体の体積を求めましょう。(うすい字はなぞろう。)

①

⑥ 定着

底面積：

体積：

底面積：

体積：

底面積：

体積：

６

5cm

3cm
4cm

6cm

４cm

10cm
3cm

7cm

3cm

3cm

6cm

8cm

3cm

3cm

3cm

５×２ + ３×４



答え： 99

=

=

③

88答え：

=

=

答え：

②

147

=

=

日にち：　　　月　　　日

名まえ

・次の図のような立体の体積を求めましょう。(うすい字はなぞろう。)

①

⑥ 定着 答え

底面積：

49

体積：

㎝3

底面積：

22

体積：

㎝3

底面積：

24 + ９

33

体積：

㎝3

６

７×３ + ４×７

21 + 28

49×3 ＝ 147

８×３ + ３×３

10 + 12

22×４＝ 88
5cm

3cm
4cm

6cm

４cm

10cm
3cm

7cm

3cm

3cm

33×3 ＝ 99

6cm

8cm

3cm

3cm

3cm

５×２ + ３×４


